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X = Table[{l, datalj, 10}, {j, 1, m}];
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vy = dataAll, 2];
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ymean = — Plus @@ y; /
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plotlinear = Plot[{1l, x}.linear, {x, -6, 6] / ™
Show [dataplot, plotlinear]
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plotlinear = Plot[{1l, x}.linear, {x, =6, 6]
Show[dataplot, plotlinear]
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a = Pseudolnverse[X].y;
Print["a= ", a // Chop];

{min, max} = {Min[data[All, 1]] - 2, Max[data[All, 1]] + 2};
plot = not[nu.[x“, {k, 0, o.rd'cr}].a, {x, min, mx}];
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Print ["R2= ", R2];
Show [dataplot, plot]
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Show [HigherOrderRegression[data, 11], PlotRange + {{-8, B}, {-6, 6}}]
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m = Length[data] ;
y = data[All, 2];
X = Table[{1, datallj, 10}, {j, 1, m}] // N[#, 32] &;

t=1;
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W= Biagonal}iﬂtrix[‘l‘abla[Btp[ — (dataflj, 1] - x) ], {3, 1, m}]];
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o = PseudoInverse[W.X] .W.v;
{1, =}.a,
{x, -10, 10}|;
Show [dataplot, weightedlinearplot, PlotRange - {{-8, 8}, {-6, 6}}]
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